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QUESTION 1

As part of implementing Oracle Cloud for your customer, you defined multiple Business Units. The customer wants you
to define an Inventory Organization that is associated with all the business units and not just one particular business
unit. 

How do you achieve this? 

A. Define the Inventory Organization without associating it with any location. 

B. Leave the Management Business Unit field blank in the Inventory Organization definition. 

C. Leave the Profit Center Business Unit field blank in the Inventory Organization definition. 

D. It is not possible to define an Inventory Organization that is associated with more than one business unit. 

Correct Answer: D 

 

QUESTION 2

You need to exchange large binary messages using chunks in a WebSocket application. Identify two ways in which you
can receive partial messages. (Choose two.) 

A. Define an @OnMessage method with a single MimePart parameter. 

B. Use a ChunkListener interface implementation. 

C. Use a MessageHandler.Partial interface implementation. 

D. Define an @OnMessage method with byte [] as the first parameter and a boolean as the second parameter. 

Correct Answer: CD 

Reference: https://abhirockzz.gitbooks.io/java-websocket-api-handbook/content/Receiving% 20Messages.html 

 

QUESTION 3

Your customer has a complex financial reporting structure. 

Which three elements should you define first in order to form a basis for this reporting? 

A. Tax, Legal, and Industry 

B. Managerial, Operational, and Industry 

C. Legal, Managerial, and Functional 

D. Legal, Autonomy, and Operational 

Correct Answer: C 
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QUESTION 4

Given: What will be the response to a HEAD request? 

A. The findAll() method will be called and the employee list will be returned. 

B. The findAll() method will be called and no employees will be returned. 

C. No method will be invoked and no error will be returned. 

D. No method will be invoked and a 404 error will be returned. 

Correct Answer: C 

 

QUESTION 5

Which three statements are true for an expense destination transfers that does NOT require a receipt at destination
inventory organization? 

A. There is no cost associated to the transaction. 

B. There is no put away transaction in Inventory since the item is expensed. 

C. A receipt is required on interorganization expense destination transfer orders between the from and to organizations. 

D. The transfer order is considered received and delivered at the time of shipment. 

E. The destination inventory is not incremented. 

Correct Answer: ABE 
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